Multiplier ou diviser des nombres décimaux
	154,75
	(
	10
	=
	


	38,795
	x
	100
	=
	


	1,2689
	x
	1000
	=
	


	789,25
	(
	100
	=
	


	369,845
	(
	10
	=
	


	27,3594
	x
	1000
	=
	


Multiplier ou diviser des nombres décimaux

	368,789
	x
	100
	=
	


	28,368
	(
	10
	=
	


	1,2458
	x
	100
	=
	


	36,598
	x
	1000
	=
	


	1,5478
	(
	10
	=
	


	359,789
	(
	1000
	=
	


Multiplier ou diviser des nombres décimaux

	2,6859
	x
	1000
	=
	


	132,457
	(
	10
	=
	


	2597,56
	x
	100
	=
	


	156,1584
	x
	10
	=
	


	68,9847
	(
	100
	=
	


	12,654
	x
	1000
	=
	


